REAR TORSION BEAM BRACE

Installation Instructions &R e
L% SR #Q0427

Application & Jij i %Y

SKODA FABIA'14 - (NJ)
AUDI A1'10-18 (8X)

Components N & il {4
(D Brace #1518

Cross bar P12 1pcs
Bracket-RH SZ22-A....ccmnsc LPCS
Bracket-LH =%2-7 1pcs
Bolt 8844 (M10x1.5%70)..... 2PCS
Nut 3218 (M10x1.5-17x10)........crmn 2PCS
Washer Z5] (20.8x10.7%2).....ovre. APCS
@ Washer 23] (24x13x3) 2pcs

Caution ¥ 25

«Installation is recommended to be performed by licensed mechanics with necessary tools
to ensure safety. Incorrect installation may cause injury, damage to the product or vehicle.
ZEREOASHORMERTENTLHUREREZ:  TRESRJUEHAS ERREWMEMNEE -

+Note the routing of wires and cables before installation, or please refer to factory manual.
LEAABCC MEBNERBERUENARRELES - ARBRNFESEREFM -

+Tighten bolts and nuts frimly by using handtools, and with specified torque if mentioned.
ZEPBEHEAFH T ERRHZEFIEREA - MARDIRFKERAERAAES L8 -

Instructions ‘Z¢ % #t W

1. Raise and safely support the vehicle.
IS ER TR FEE -

 / o
QU

2. Remove the rear torsion beam mounting nuts.
ENER DR EIE RIS -

3. Install supplied brackets and M12 washers to
the torsion beam mounting
HEHEBIEZREREMI2ETREZTHNREIRE -

4. Reinstall the torsion beam mounting nuts.
iR ADIREEREE L -

h ¥ |listration of installed state
nuts and washers. Zp it g = ]

ERECHM10%R 4 ~ IRIERESREDPRE -

5. Install cross bar using supplied M10 bolts,




